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Economic

Which of the following is/are the qualitative methods of
credit control in India? -

1. Regulation of Consumer Credit

2. Discount Rate Policy

3. Rationing of Credit

4. Variable Reserve Ratio

Select the correct answer code:

(@) 1,2,3 1,3
()1,3,4 (d1,2,3,4

Consider the following statements regarding Shrink
inflation:

1. Shrink inflation is when an economy goes down by
size in monetary terms due to prevailing low prices.

2. Anincrease in the cost of input materials and intense
competition results in Shrinkflation.

Which of the statements given above is/are Incorrect?
A1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to Inflation in India, consider the following
statements:

1. Increasing Inflation in the Economy benefits the
creditors.

2. Real Estate Investments such as REITs can help against
inflation.

3. Very low inflation can lead to slow economic growth of
the country.

Which of the statements given above is/are incorrect?

M only (b) 2 and 3 only
(c) 1 and 2 only (d) 2 only

4. In the context of Indian economy, consider the following

statements:

1. The rate of inflation has steadily increased in the last
five years.

2. A severe and prolonged recession leads to depression in
an economy.

3. Deficit financing is inherently inflationary in nature.
Which of the statements given above is/are correct?
(a) 2 only

(b) 1 and 2 only

o2 and 3 only
(d) 3 only

frefafea & @ &9 @ 9Rd & FO fEEA0 F OTES
e 22
1. I9ARHT O & fafEee

2. B2 AT

3. RO I TR

4. UREdE sIRfaa e

TS IW HIE T2

(@) 1,2,3 () 1, 3,
(c) 1,3, 4 (1,2,3,4

TEIERia | & & Fa9 o FEfafeg wum ) faem wl:
1. Tomed grewifa o et © v el sreforaen
TR HISl H FiHdl & HRU Aifgd w5 F Ao wen
S B

2. Y gEM # or@ ¥ gfg R g ufeerdt &
IRoTHEEY fahega et 2

TR fEu T weR H @ wH " T 2722

(a) ad 1 (b) HaA 2

(c) 1 ¥R 2 T (@A a1 R A2

ARd H JRERIG & e H, FEfafeg s w faur &1
1. orefoemen ¥ aadl HemME W Hheiasti s WEST g
S

2. FERA W REe wee fEv grewifa & faors
T H T B

3. =gd Y GREhIT W 39 i 37 gfg vl 8 wendl 2

T U MU oA § ¥ A /A T 227
(a) Haet 1 (b) HaA 2 3 3
(c) ad 1 3K 2

(d) Haa 2

qRer srefemaen & Hed H fr=fafed ol W faer
Eae

1. Tuset o= oo | HREhif i1 W @ER S8

2. T TR SR @S TG q% Tor ol Hel o stefereren
o o en W 2

3. W ! faa =awen w@iafas €9 § qEnIaart ehid
T B 2

TR fZu T wed § @ B wA T 272

(a) Haa 2

(b) e 1 3R 2

(c) ad 2 3N 3

(d) Had 3
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5.

Woth 1 and 2 only

7.

«lerZonly

y'Both 1 and 2

9.

Consider the following statements:

1. Continued deflation is a sign of a Strong economy.

2. Higher income tax may lead to a lower rate of inflation.
3. Low Inflation encourages Investment in the economy.
Which of the statements given above is/are incorrect?

(2) 1 and 3 only _,@b‘ﬂ only

(c) 2 and 3 only (d) 2 only

6. In the context of Inflation, consider the following statements:

1. Base Effect is the impact of the price levels of
previous year on the calculation of inflation rate.

2. Decrease in the Cash Reserve Ratio can increase
Inflation in the economy.

Which of the statements given above is/are correct?
(b) 2 only
(d) Neither 1 nor 2

In the context of Inflation, consider the following
statements:

(a) 1 only

1.  Goods and Services are used for the calculation of
the Wholesale Price Index.

2. When Inflation increases, the real value of the savings
falls.

3. Consumer Price Index covers only Goods in the
economy.

Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 2 and 3 only
(d) All of the above.

In the context of Inflation, consider the following
statements:

1. Inflation has a negative effect on the balance of
payments.

2. Inflation and Unemployment are negatively correlated
with each other.

Which of the statements given above is/are correct?
(b) 2only
(d) Neither 1 nor 2

Consider the following pairs:

(a) 1 only

Types of Inflation Causative factor

Cost-push Inflation  Expensive raw materials
2. Core Inflation Inclusive of food prices &
Skewflation Covers certain commodities

only ~

4.  Built-in Inflation Increase in wageso”"

Which of the pairs given above is/are correctly matched?
(a) 1,2,and 3 only —_—

(b) 2,3,and 4 only

(¢) 1,2,and 4 only

M3, and 4 only

Frfafed womi | foem =

1. FRE SToerifa Tk Aoeq reforaeen 1 gad 2

2. $59 AEH § HIEHITT H1 S KA B bl 2

3. W HEEhIT sreferaeen | A9 i dieded w 2

T fEu T weA § 9 B /A o o/e?
(a) Sae | 3R 3 (b) BT 1
(c) ad 2 3N 3 (d) Faa 2

TR & e § fAfafed weom | foem w1l

I. TR WHE GEEHI < 1 01 W frsd a9 & 9o
TR YT 2

2. g IRfWT U § HH ¥ STefoueen H gEEhIfa
g Tl 2l

TW fXu U FwoA § 9 B G TE 27
(a) o | (b) Ha 2
(c) ®ad 1 SR 2 &M (d) T d 1 AR T & 2

eI & e # fefafed weoml | faem &l

. ¥lieh god Yeehich ot TUAT o forg aeget iR dansti &
I foHan S 2l

2. 9 HEEHI Sedl € @l s ol aredfas god iR S
2

3. SUHIHT T Yadhis STLaTel § shacl awel &l Ho
Tl B

TR U MU o ¥ § BH 98§68 o7
(a) Sae 1 3N 2 (b) Fod 2 3 3
(c) ot 2 (d) STE TR

TEEHI o H3H H FAfafed s ) foem w1l

|. HIEHIA 1 A Sger T TS G9E TSl 2
2. GEEHIT SR SRS Th S % 91 hRAS €9 9
TEHaS ¢

TR U MU weA § 9 w8 WA e 272

(a) Faa 1 (b) Faa 2

(c) 1 3R 2 < (Fd 1R 2

Frafafen sifgal W foer X

YEERIT] Heh & U Feh Hh

1. TWE-URd gRrehitd TWEM FHedl A

2. HR IR 99 @ Hid
off wnfer &

3. fo@r gEewifa A H el
1 HAX AT B

4. fafifed gEremifa o o gfg o
fs

TR fEu T g F W wE w/d g gt 2722

(a) ST 1, 2, 3R 3

(b) e 2, 3, 3N 4

(c) o 1, 2, 3N 4

(d) Foe 1, 3, 3N 4
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10

11.

12.

13

. Consider the following statements regarding inflation in
an economy:

1. The base effect always amplifies the inflation levels
in an economy.

2. A certain degree of creeping inflation is considered
essential for an economy.

Which of the statements given above is/are incorrect?

M 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following situations:

1. Ease of import restrictions.

2. Banning the export of commodities under inflation.

3. Releasing stocks from cold storage.

Which of the above would be effective in fighting inflation?

(a) 1 and 2 only (b) 2 and 3 only

(¢) 1 and 3 only Al of the above

Consider the following statements:

1. The headline inflation used in normal parlance refers to

CPI (All India).

2. CPI (All India) assigns maximum weightage to food and

beverages.

3. The base year for both CPI and WPI is taken as 2011.

Which of the statements given above is/are correct?
3T and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d)1,2,and 3

. With respect to impact of Inflation on value of currency
which of the following is correct?

(a) Value of currency increases.

Jb‘) Value of currency decreases.
(c) Value of currency remains unchanged.
(d) None of the above.

10.

11,

12,

13,

fordlt stefoazen ¥ qEwifa & Hay H fr=fafed o
T R =

1. 3TER YoTE gHLN foheft sreferamen ¥ HEEmIfa & W &l
ECd

2. fordlt refezazen & fau gewifa 1 & ffved @ a6
G AEYIH WA Sl 2

TR U U wed § 9 W qUA o[ 2872

(a) Faa 1 (b) Faa 2

(c) 1 3R 2 <t (Il RAE 2
Freafafaa feafe @ fomm w1

1. oo fqsel o SmEr.

2. AEEHRITG & q8d a&gell & fafd ® gfaey o

3. hies TR ¥ Wi TH H

SWE § W HF GEEEIG § o ¥ quEl gnm?

(a) ad 1 3N 2 (b) Fae 2 3R 3
(c) e 1 3N 3 (d) STk Tt
frefafed weAi w fomr &1

l. 99 SoE H 9T docEd gRIehi Erdens
(e 9rdra) =1 Heidd Lt 2

2. e (srfae wRdE) wieH iR 9o aerel @l srfy
*aH HE Il B

3. didieng oiR gsogdieng <M % faw emuR = 2011

AT T 2

T U MU Fo § ¥ HH G/A FE o7
(a) ol 1 3R 2 (b) Had 2 3N 3
(¢) ol 1 3N 3 (1,2, 3R 3

T & Hod W GIERIa & 99@ & Gy § fAfated §
H & o T 7?2

(a) TS %1 god =gdl Bl (b) TSI H1 Hod W S 2
(c) T 1 Hod sraiatid @l g

14. \é’)lltllé \;?rflegr:?actz r;oe ntSonsumer price Index © Consider the (d) TR F G ﬁ _ﬁgr.l‘ - |
1. Consumer Price Index or CPI is the measure of changes 14. w‘*"rm A AT % Hed o Feortl R foram
in the price level of a basket of consumer goods and services i
bought by households. 1. SUHRH Hed YAkl A1 HAeTS IRER g B T
2. Consumer price Index is released by the National SYAH oGS SN TS H TH AR B T &R H
Statistical Office (NSO). gfads &1 7" 2
Which of the above statement/s is/ are correct? 2. UK oA Yachich T WAl Hraier (TTuHst)
(a) 1 only R S TR s 2
(b) 2 only ITE FoF B 9 BE /A TE 22

JerBoth 1 and 2 (a) Had | (b) Fo 2

(d) Neither 1 nor 2 (c) 1 3R 2 g @1 iR 2

15. With reference to Wholesale price Index (WPI) consider | 15. 9 Hod goehih (T=oqdiens) & Had # freforfea
the following statements: Hel W faar
1. Wholesale price Index measures the changes in the prices 1. i o Yakhie offh aE™l g 3= a9l &l
of goods sold and traded in bulk by wholesale businesses offr H o= SR SAUR #T S 9ol a'{ﬁaﬁ H HEd |
to other businesses. Tfrad = T B
2. In WPI the highest weightage is given to fuel and power. 2. WPI o Ga SIE 49 $u 3iR farsteft w1 fean < 2.
3. The base year of All-India WPI is 2004-05. 3. offiEe] AREE WPI &1 3T9R a9 2004-05 %\I
Which of the above statements is/are correct? IHF § ¥ BF 99 9T 98l 22
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(a)1,2and 3 (b) 2 only
(c) 1 and 3 only _@ﬂ' only

16. Which of'the following situations contribute to the Inflation
situation in an economy?

1. Excess circulation of money.
2. Demand-supply gap.
) AR 4>
3. Increase in tax rates. C D'Tﬂd { )
Which of the above statements are correct?
21 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d) 1,2 and 3.

17. Reserve Bank of India is the authority to control inflation
through monetary policies. Which of the following tools
will the RBI take to curb inflation?

1. Increase Cash Reserve Ratio.

2. Decrease Statutory liquidity Ratio.

3. increase in repo rates.

Which of the above statements are correct?
(a) 1, 2 and 3 only (b) 2 and 3 only

«#71 and 3 only (d) 3 only
18. With reference to Phillips Curve Consider the following
statements:

1.  The Phillips curve states that inflation and
unemployment have an inverse relationship.

2. Stagflation scenario also supports the Phillips curve
idea.

Which of the above statements are correct?
M Tonly (b) 2 only
(c) 1 and 2 only (d) Neither 1 Nor 2
19. Consider the following statements:

1. Disinflation refers to a persistent fall in the general level
of prices while deflation is a decrease in the rate of inflation.

2. Inflation decreases the value of money whereas the
deflation increases its value.

Which of the statements given above is/are Incorrect?
'-m only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

20. Which of the following curve defines the best relationship
between Inflation and Unemployment?

hillips Curve (b) Laffer Curve
(c) Lorel}lz Curve (d) Kuznets Curve

21. What are the possible effects of higher inflation in an
economy?

1. Nominal wage increases

2. Beneficial for Exporters

3. Depreciation of currency

4. Beneficial for creditors

Which of the options given above are correct?

‘/@’Y 1 and 3 only (b) 2 and 4 only
(c) 1,3 and 4 only (d) All of the above

16.

17.

18,

19.

20,

21,

(@) 1,2 3R 3 (b) Hae 2

(c) o 1 3N 3 (d) Faa 1

frefafaa & @ @9 & ufiftefaal fadt srefegemen o
gErehifa #t feafa o amee s €2

1. 9 &1 3AfYs Jae|

2. HI-IYRd F A

3. W H gfs

SWE § W HF W HeH Tl B2

(a) e | 3R 2 (b) Seet 2 3R 3
(c) Had 1 3R 3 (d 1, 2 ¥R 3

S e R R e w s e
FElE w6 #1 AfR T B qREkia W iR o
% fou smEtemE frefafad § 9 9 1 ST SToTTm?
|. % ARfEd U S|

2. AR ol STU HH H

3. W A TR

IR | U HH H HUT T 22

(a) o 1,2 33 (b) o 2 3N 3

(c) wad 1 3R 3 (d) e 3

frfere &vd & Ty # Frefafed el w foem +i:
1. feferca o sqmn © fF gEEdifa ok Sismd o
fawdia wey 2

2. THAYH UREA ot fRfered ok e w1 wmei s
2

ST § W A T HAA Tl 22

(a) Had 1 (b) A 2

(c) ®ad | 3R 2 (d) 7T a1 R A2
fr=fafed Fomi W foar =

. STITHIfd 1 qad HIFdl % GHAT WR W SR
fikiee ¥ ¢ vEfh SUehifa GRehiia &1 < § St 2
2. TEEHITG ¥ T H Ged U Sl € e STIenifa o
THH e 98 W 2

TR fEU 7w H Y HH WA T 272 ?

(a) Faa 1 (b) Faw 2

(c) 1 3R 2 T @1 RAE2
Tetferiea | § A 1 o HEEhifd R SRS & are
HelToH Hee i G i €2

(a) forfeem = (b) TMH el

(c) AR ah (d) F5 TH

el sreforraeen § =9 gREHIf & Garfad wee @ 22
1. A9EE A a5d @

2. Tafaei & fau wreRHg

3. {51 1 STEHEAA

4. TER & U TR

T fau T fomedi § 9 #A W Gl 22

(a) ol 1 3N 3 (b) Heet 2 3N 4

(c) ®oed 1,3 34 (d) Sk Tt
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23.

24,

25.

2.) Consider the following statements regarding Inflation

12 . ’
Targeting:

1. Itis a monetary policy where the central bank sets a
specific inflation rate as its goal and adjusts its monetary
policy to achieve that rate.

2. The Monetary Policy Committee (MPC) and Central
government determines the policy interest rate required to
achieve the inflation target.

3. It is set by the Reserve Bank of India once every five
years.

Which of the statements given above is/are Incorrect?
(a) 1 only ‘/(6‘) 2 and 3 only
(c) 1 and 3 only (d) All of the above

Which of the following factors are responsible for causing
Cost-Push Inflation?

1. Crude oil price fluctuation

2. Low growth of Agricultural sector

3. Increase in direct taxes

Which of the options given above is/are correct?
,_m and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) All of the above

The term Stagflation was coined by lain Macleod, a
Conservative Party MP in the United Kingdom,_jn
November 1965. Which of the following events are most
likely to happen when an economy is undergoing
Stagflation?

1.  Rapid increase in growth rate®

2. High level of unemployment~.”

3. High level of Inflation or price riser™”

Select the correct answer using the code given below:
(a) 1 and 2 only ‘,éb'f 2 and 3 only

(c) 1 and 3 only (d)1,2and 3

Consider the following statements regarding Recession:

1. If there is negative growth rate in two consecutive
quarters, then the economy is said to be in a state of a
technical recession

2. During recessions, the central bank typically increases
interest rates in an effort to boost spending in economy.

Which of the statements given above is /are correct?

Jaa’f only (b) 2 only

(c) Both 1 and 2 only (d) Neither 1 nor 2

22,

23,

24,

25,

26,

YRR Aol & Hay H efatad o ) foem
ETd

1. 8 e Hifgen At & &l Her S Tk i gEemifd
TR I e wY § Trifia w2 iR 3| L A
F@ & fAu st Az Afa w1 TERfS w2

2. g fifa wiEfa (THAE) SR w5 TR gEEmITa
e Bl Y HH b foIg mewasw Hifama = R H9ifa
Eacild

3. I8 9RdE fiod 9% 50 ) viE 9 |t aR feifa
feran ST 21

TR U U wed ¥ 9 HF g o[ 2872

(a) Hae 1 (b) HaA 2 3 3

(c) ®aa 1 3R 3 (d) STk Tt

- URd geewifa & fou frefafed & @ 9 9 #ns
R &2

. @ed dd & HEd H SAR-TEE

2. U & H HA Ihs

3. TAg U H gis

TR fu U fomedl ® @ ®F WA w1 2?2

(a) e | 3R 2 (b) Sae 2 3R 3

(c) Had 1 3R 3 (d) STIH Gt

VIHRATH I TR 1965 H FAEee fnmed § wHedied
T F WO A dEclee § TG T en W@ HiE
yefoAaEel LT ¥ TR W@ @ d fefafea § 9
i S Hied B i e S WA gl 82

1. foom R 4 @ gfs

2. USRI &1 3% &R

3. HIEHI A HoI ghg 1 = &N

= fST MU HE FH ITAM Fh Tel W T

(a) o 1 3R 2 (b) Ha 2 3N 3

(c) ol 1 3 3 @ 1,2 3R 3

T & Hay H ffafed weml w TR w1

1. At @R = famfea § TR fowm ) e,
AT TRt Hal bt fefa o ®

2. T H INE, B dh AHAR W ALfeTaen § T Hl
@l 3 % A W oA & agn

R KU T FeA H @ FF WA w1 22

(a) o 1 (b) oA 2

(c) ol | SR 2 IMl (d) T df 1 3T &2
TEEHITd & GhRI & G99 § fAfafed wo | faer

26. Consider the following statements regarding types of =

Inflation: : .
1% Inflation that occurs due to increase in aggregate L. %d =M | s ® B g Il
demand is referred to as cost push inflation AR greRifa e e
2¢k Price rise in all goods and services except food and 2. SHHA kl SAR-=E % I T SR el 1 BIgH
energy due to high price fluctuations is headline inflation. welt ‘cl'{ﬁ?:ﬁ 3R Genadi | L& gfs BeaTeT ﬂ?{l@ﬁﬁl 2
Which of the statements given above is /are correct? SR U T FAA H W BE WA W E?
(a) 1 only (b) 2 only (a) e | (b) et 2
(c)Both 1 and 2 P Neither 1 nor 2 (c) 1 2 T (@ F@ 1R 2
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27.

28.

29.

30.

31.

32.

Consider the following statements regarding Shrink

inflation: W
1. Shrink inflation i§ when an econofny goes down by size

in monetary terms due to prevailing low prices.

2. An increase in the cost of input materials and intense
competition results in Shrinkflation.

Which of the statements given above is/are Incorrect?
1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following has the highest weightage under
Consumer Price Index urban?

a)  Fuel and Light v?f Food and beverages

c) Clothing and footwear

d) Housing

Which of the following is/are the major traits of Recession?
1. General fall in demand ¢~

2. Unemployment rate falls%

3.  Inflation remains IOWWand shows further signs of
falling down

Select the correct answer code:

a)l,2 b) 2,3
,3 d1,2,3

Consider the following statements:

Deflation refers to the decrease in the general price
level of goods and services but inflation rate remains above
Zero.

2. Stagflation is a situation in which the inflation rate is
high and at the same time economic growth rate remains
steadily high. o

Which of the above statements is/are correct?
a) 1 only b) 2 only
c) Both 1 and 2 \))fN'either 1 nor 2

Which of the following statements best describes ‘fiscal
consolidation’? —_—
S

a) Strategy of the government to disinvest public sector
enterprises to meet deficit. 7%

b) Government agenda to reform loan disbursal
mechanism of scheduled bankss

Policies undertaken by Governments to reduce their
deficits and accumulation of debt stock.e.”

d) Scheduled banks action plan to recover the loans from
non-performing assets. x~

Consider the following statements.

1. Core inflation represents the long run trend in the price
level, including food and fuel inflation. ¥\

2. In measuring core inflation, volatile price changes
are usually excluded. 7~

Which of the above statements is/are correct?

‘/65. 2 only

d) Neither 1 nor 2

a) 1 only
c) Both 1 and 2

27.

28.

29.

30.

31,

32,

TR § FwH & e | frefafed s W foEm w1
1. Toamedt geewtfa a9 gt @ v Tt sreferemen @
R TSR] HA HIAd & HROT Aigeh Gl § F wen
ST 21

2. Y gEM # orE § gfg ik g ufeerdt &
gRoTHEEY fage et 2

TR fEu T weR § @ HH HWA T 2722

(a) Faa 1 (b) Faa 2

(c) 1 3R 2 < (Il RAE 2

TEL IUARH] Yo gakle & Siqd ffated d 9
Terment WK o afies 7?2

(a) o SR HhTRT (b) SSH SR T v
() U SR (d) T
frefofad & o w0 @@ 40 & yg@ o 22

1. ¥ ¥ gm= firee

2. aOeTR R H fiRee

3. UEEHI & 9 g8 © AR e iR e i ®
Hea @ ® ©

wE IW BIE T

(@) 1,2 (b) 2,3
) 1,3 d1,2,3
frefafaa womi | faar =

1. STIERITT o deqd aegel oIk Heret & WH Hod &R
| %l ¥ ¥ oifehd GReHifd R g 9 T S wd R
2. WIHRIYE T U feufy @ foad geewifa B s
Bt ® IR W & ol faem ST o aR S w
T 2l

ST® § 9 S 9/8 FoF TEl 222
(a) o 1 (b) B 2
(¢) 1 ¥R 2 T (@A a1 R A2

Frefeieaa & § & W HYF WSHHF THHAY T Tl

3T U Rl 22

(@) T F W ES B fw T 4w F s
fafqaet & #t WHR HT WA

(b) STHrEa Sl % o1 Tl o § GUR & fory weehr
& TSl

(c) TR BRI 04 W@ SR RO HER % HeA H HH
W % fou o T it

(d) TR-fremifea gl @ =0 =t agel & o eyl
Sk A

frefafaa woi W faar =)

|. &I gEehia @ SR € gEenif dfed god '

o defemifas ygfa w1 wfaffee st 21

2. &I EEEIG ol WO H, IfeeR oo ufiedAi @i

AR W AL @ W 2

IR § W HF /A weF T 2/R?
(a) ®ad 1 (b) o 2
(c) 1 3R 2 <t (Il RAE 2
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33. Consider the following statements. 33, T=fafed s w faar K1
1. Inflation in a controlled manner is good for the 1. frafe e ¥ grewifa sreicrazen & fou et z.
economy. ~ 2. Sod EIEhITG SULRRT hi h WH hl HH HT Tehdl B
2. High inflation can lower the purchasing power of the 3, SANENSTE &l itz Hifd =1 ra-gias W—ﬁ.’ F
consumera=" frifird T W e wwE e 2
3. The RBI monetary policy has a direct impact on IWF § T T O e T 2
controlling “cost-push” inflation. me_ - 0 1.3 )
a > >
Which of the above statements is/are correct? EC; > 5 E di 5 3
A2 b3 34, Afg fopd sreforaeen § W ¢ w7 A A6 €, O T
c) 2 only d)2,3 2.
34. Ifthe repo rate is dicieased in an economy, it will: (a) AT H IUAN T H HHI
(a) decrease the consumption expenditure in the economy (b) THR & X 9UE H Jfg
(b) increase the tax collection of the Government (c) erieaaeen H %ol ISR H Ifg
(c) increase the total employment in the economy (d) AUl

35, RHAYE & T H Frefofad wer W w:
I. T8 79 B & 9 R sreforeen &1 feer foww &
YT AR e GEEhIf 1 TEAT T Tl 2
1. It happens when an economy faces stagnant growth as 2 IR F FT O FEERT S qE T g T

&) Decrease in the interest rates

35. Consider the following statements regarding Stagflation:
_

well as persistently high inflation. AL~ 2 3
2. The purchasing power of a consumer is not affected by 3. TEE ® IROTHEEY 3= REhiTd, SedE S0y
stagﬂation.x ‘ ’
=9 SR B R
3. Stagflation results in high inflation, stagnation, and high faw T FoAl § O B @ T %7
1 t :
unefnp oymen ~/ (a) Sae 1 3N 2 (b) = 2 3R 3
Which of the given statements are correct? (c) Bad 1 R 3 ) 12 3R 3
(a) 1 and 2 only (b) 2 and 3 only 36. RRIYH T it aTeie feefd & forad frefafaa
(Y1 and 3 only (d) 1,20nd¢g F ¥ forem form waeH B 82
36. Stagflation is an extreme economic condition characterized (a) S=d T, =4 IS, &t Wﬁ
. ) . ) N ’ ’ 2
by a special combination of which of the following? (b) e %’ I=d IUSTH <X, ,—Sﬁ?ﬁ -ﬂmpq.ﬁﬁ
%%a) High growth, high unemployment, rising inflation (c) S=d gfg, S=d ISR, dQdl TTEhIfd

‘/@b'f Slow growth, high unemployment rate, rising inflation ) it ?{E T= SR =, AR AT
(c) High growth, high unemployment, increasing deflation 37. Frefafag Fo | FER a1
(d) Slow growth, high unemployment rate, increasing | 2eerEA wﬁ =1 b Sttt o gl agaﬁ
deflation ' 3 )
AR et & gea § ufedH 9 2l
2. R GEEHIA e AR Lo i awqgel il ez

37. Consider the following statements:
1.  Headline inflation refers to changes in the prices of

all goods and services in the basket~" SEGSIE e A 2 .
2. Core inflation excludes food and fuel items from 3. R GRITHIG F oAl H TS I FHH
headline inflation. y = SR %I
3. Headline inflation is less volatile than core inﬂation){ I 4 ¥ HA G/E HUE L 2?2
. o N
Which of the above statements is/are correct? (a) HIA 1 FR 2 (b) T 2 AN 3
A 1and2 only (b) 2and 3 only (© Fa@ 1 3R3 (@ 1,2 %3
(c) 1and3 only (d) 1,2and3 38. Frefoifad & @ i Gy/d GEEhia i R &
38. Which of the following comes under the definition of Aqfa emmar /82
inflation? . .
. 1. wEdl & gEE =R ¥ 9fy

1. Increase in the general level of prices v« . c o~

. C 8enete P . 2. DA & O 'R H fRR gfg
2. Continuous increase in the general level of prices .
3. WGl w1 GEE TR GHG % Wy R @ R

3. The general level of prices is falling over time?%&~

Select the correct answer from the codes given below: = few M he Y e SW E\lﬁi
(a) 1only oAB) 1and?2 only (a) HoA 1| (b) 1 3R 2 Faa
() 2and 3 only (d 1,2and3 (c) 2 ¥R 3 Fod @1, 2 %k 3
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39. Inflation occurs when there is a sharp decline in supply and
demand remains at the same level — which of the following

is related to? %oﬁlg_ ’\j—C& JY#'-
) Inflation

(d) Running inflation

(a) Core inflation
AT Cost-push inflation

40. Which of the following is related to inflation and
unemployment?

(a) Gini coefficient (b) Kuznets curve

" Phillips curve
41. By reducing the bank rate by the Reserve Bank of India,
Emm— e

‘/@ more liquidity in the market
(b) Low liquidity in the market

(c) Laffer curve

(c) No change in the liquidity in the market
(d) Raising more deposits by commercial banks

42. Ifthe RBI decides to adopt an expansionary monetary policy,
which of the following will it NOT do?

1. Cut the Statutory Liquic‘lry- R;Eo ;-/

2. Increase marginal standing facility rate g

3. Cut bank rate and repo rate ¥~

Select the correct answer using the code given below :
() Only1and2 e Only2

(¢) 1and3 only (d 1,2and3

43. Which of the following is/are the measures to control rising
inflation?

1.  Government can import goods. (v

2. The government can try to reduce the production cost
of goods. ¢.”
3. The government can resort to strict mtary policy.

Select the correct answer from the codes given below:

(e) 1only (b) 1 and 2 only
(¢) 2and 3 only
& 1,2and 3
44. Which of the following is/are not measures to control
deflation? —
/ -

1. Increasing cash reserve ratio &
2. Quantitative Easing /7~

3. Cuttax rates ¢/ C ,D,“( LJ’ (Mfy

Select the correct answer from the codes given below:
(¢) 2and3only

@ 1 only
(b) 1and2only OE
(d 1,2and3 ﬁ A’ﬂﬂfbg
45. Inflation occurs when there is full supply
(a)  more than the total derr;l;d
less than aggregate demand

(¢) equal to total demand
(d) none of these

39. USRI 9o Bl @ 5 omgfd § i) fimee et @
AR W THA ®R W @l ® - Fetatea § 9 e
Heifud 272
(a) e TR (b) FTERIfa
(c) NI ST GETEhITal (d) Jrgel HEmE

40. Frefefaa & o & o gEEwfd SR SIS 9
Hefed 272
(a) Firft TqonieR (b) T Th
(c) TR Tk (d) frfere T

41. 9RA o S g o I FH FE 9 B ©
(a) 9NIR § 31f¥eh X
(b) SR ¥ A el
(c) STSR H e § g aged &l
(d) afoiees St gr erfuss 1 Tl e

42. I ANESE faearerd Hitks ifa s ol
T €, d a9 Fefeied § 9 R T8 sm?

1. SR TRerd ST H herdt sl

2. dmia wElh gadr < gl

3. % E AR W T H FHdr W

Fo T MU 2 w1 wE B W g
(a) el 1 3R 2 (b) Hae 2

(c) sheel 1 3R 3 @ 1,2 3R 3

43. 9l GIERITG i FRfa we & foe frafafea 5 9
HH-T/Y ST/ /82
|. SRR HIEl 1 ST T Gehedl 2|
2. HIHR T3 1 IR AT T I 1 A T
Hehd! 2
3. TUHR T Hifgeh i 1 T8 o Wehdl 2

= f T e ¥ HE W FH:
(a) I 1 (b) | 3R 2 o
(¢) 2 3N 3 Had 1,2 33

44. ATERI 1 FELE 0 & fou fefated 9 9 S5
/A U TR e/e?
1. ohg SARf&TT STIUIA dQMHT
2. HMEATHsh HaSidl

3. T H

e fRg T w2 ¥ wE IW -

(a) el 1 (b) 1 3R 2 Saa
(©) 2 3 3 Had @1, 2 3R 3

45. GEIEHIfa a9 et & 9 wqul egfd et @
(a) /A AT W Al
(b) HA T ¥ HH
(c) e HIT & e

(d) =9 9 =5 T
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48. The basis for determining dearness allowance of employees

A

51.

46. On what basis is the inflation rate measured in India?

A

©
&

Consumer Price Index
(b) Wholesale Price Index
(c)
(d)

Consider the following statements:

Cost of living index of workers
all of the above

1. The weightage of food items in the Consumer Price
Index (CPI) is more than their weight given in the “Wholesale
Price Index’ (WPI).o .~

The CPI does not capture changes in the prices of

services, as the}@l’.d.aee. (A f'z 0L). >

3. Th serve Barflgof India has now adopted the RBI
for the main™alue of infPon and for determination and
change of key pO¥gcy rates.

Which of the statements given above is/are correct?

(a) (b) 2only

(d) 1,2 aomis

1 and 2 only

in India is-
\éb’f‘ Consumer Price Index

(d) per capita income

(a) National Income

(©)

standard of living

49. Core inflation is defined as-

(a)
(b)
(©)

Headline inflation excluding fuel inflation only
food inflation and fuel inflation
Headline inflation excluding food inflation only

Headline inflation excluding both food inflation and
fuel inflation

50. Which ofthe following establishment/office releases the data

of Wholesale Price Index (WPI) in India?
(a) Reserve Bank of India

Ministry of Commerce and Industry
(c)
(d) Ministry of Consumer Affairs, Food and Public
Distribution

Finance Ministry

In the measurement of Wholesale Price Index, which one
of the following sectors is given the maximum weightage?

(a)
(b)
(©)

L

food sector
Non-commodity sector
Fuel, power, light and lubricants

manufactured products

52. The Government of India has changed the base year from

2004-05 to which year for the All India Wholesale Price
Index?

(a) 2010-11
W 2011-12
(c) 2012-13
(d) 2013-14

(e) none of the above / more than one of the above

46.

47.

48.

49.

50.

51.

52.

IR o GEEhifa < i A9 fRE YR R et ® 2
(a) SUHRRT I YEHIH

(b) ©iich Ted Fehih

(c) ftahl @1 Sitaw fafg ara gohish

(d) SugE |t

frfafied oMl W foerR s .

1. @rE aegeT 1 IUHH qed @i (CPI) H 9R
(Weightage) 3% ‘oih Hed g=ahis' (WPI) H U
T YR ¥ e 7

2. WPI 9aeti & Hodi § BH amel 9Raddl @l T8
Tehgal, @ fo CPI =t 21

3. A o S 3 3@ gewifa & geT 7 ’g
qq yg@ i s @ e o) aRedd ?g =
o foran ?

ST YA W W T/ T /e ?

(a) Fael 1 3R 2 (b) It 2

(c) Had 3 @ 1,2 33

IR W K] o HeME 9 & [7eior &1 R 8-
(a) T 3™ (b) SUHRHT AT FaHIh
(c) oM ®R (d) gfd =afs 3™

R GEERf ) e e S i

(a) A T8 GIERITT hl BIEH IMHH GIEHITT I
(b) WY GIERIA T S8 HEHIT 9

(c) Hhacl ETE HEEHIT hi Srgeht I GIEwifa o
(d) T TEhIG q 89 BRI S ol BIgHT
T IR o

o~

XA ¥ ik Hod gashis (WPI) & Tide Frefafad
o G HE-91 G / SEeE S i € 2

(a) 9 R o (b) AT W SE HaeE
ORESREINE]

(d) SUHRRT HTH, WY TS G foaeor Hares
oieh Hed YAkl o AT H 74 7 § fohw T &7 #
ol fsh R (Weightage) & Sim € 2

(a) @ IR &

(b) TR-rE Uil &

(c) TeM, TR, RS TH Tslished

(d) fafafda s

RT TR A S IRA ek HIAd gahish & fag
YR T8 2004-05 H SEeTht fohd oo i S 7 2
(a) 2010-11

(b) 2011-12

(c) 2012-13

(d) 2013-14

(e) STYH H W wE &l / SUw B © TH 9 =
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53. Who among the following brings out the Consumer Price
Index Number for Industrial Workers?

(a)
(b)

7
(d)

54. The producer price index measures-
(a) Average change in the price of goods and services

f produced

Reserve Bank of India
Department of Economic Affairs
Labor Bureau

Department of Personnel and Training

(b) Marginal change in the price of goods and services
produced

’ (c) the total change in the price of goods and services
produced

v(df none of the above

55. With reference to inflation in India, which one of the
following statements is correct?

a) The control of inflation in India is the sole
sponsibility of the Government of India. 9¢

(b) Reserve Bank of India has no role in controlling
inflation. »

j u&y} Reduced money circulation helps in controlling
inflation..._~

(d) Increased currency circulation helps in controlling
inflation. ,7(
56. Consider the following statements:
1. Inflation benefits borrowers.e"
2. Inflation benefits bond-holders.2&
Which of the statements given above is/are correct?
&~ Only 1 (b) Both1and?2
(¢) Only2 (d) Neither 1 nor 2

Who among the following gets maximum benefit from
inflation?

(a) moneylender X \ﬂa/zlebtor

(c) Those having savings account &

57.

(d) Government pensioner o4&

58. Who among the following has set an inflation target of four

percent in India for the year 2016 to 2021 with a tolerable
level of + /-2 percent?

(a) Reserve Bank of India
¥ Government of India
(¢) Policy Commission
(d) Fourteenth Finance Commission

59. Which of the following may be most inflationary in its

effect? -

(a)
(b) Borrowing from the public to finance the budget deficit

Repayment of public debt

(c) Borrowing from banks to finance budget deficit
y Creation of new currency to finance the budget deficit

53. Trefafad & @ sH sfEfies iRl & fog sudn
FHAd YAl (FYAL TBH 3o Fal Bl 3SHgad
qnd) hTemr € 2

(a) 9 o d% (b) enfiew wE faam

(©) a'qa{{)[ (d)maﬁTgﬁTWﬁﬂW
SCUTEeh i FeEehish ATl 8-

(2) ScuTiea ol 3R Heredl i wiHd o 3iied qiecH
(c) I TEgati Us Tanstl shi siHd | el URacH
(d) SRIE | ¥ HE Tl

54.

55. IRq § gEwifa & ded ®, frefafed wemi o @
FH- ° G 2?2
(a) YA ¥ HIEHITG 1 07 dhaat IR TREHR 61

SR 2l

(b) USRI & 0T § AR o W g
Jfieht &l 2l

(c) ™1 B3 91 UEeH (WAl HepoRM), Grehifa &
frasor & HerEan S Bl

(d) 91 g3T g&1 UR=re™, GRIEhiTd & = § germ
YT 2

Trfafad weAl W fa=R sifse-

1. geewmifa Bl i oy ggem 2

2. HETERI SUS-4Neh] sl i TgE €l

ST YA W W -9 A T 2/R?

(a) Hael 1 (b) 1 &R 2 A

56.

(c) herel 2 (dF a1 T2
57. F=1 & § M gEewifa o el oy o ® 2

(a) HIEHT

(b) Uit

(c) S=d WAl Tehise @A ared

(d) TSThIT TR

7= o 9 feee Ra ® a¥ 2016 ¥ 2021 & A€ +/-2
JiaeId o Fed ®R % 91 =R Gfae S GREmId
o1 ey Hfvea foran € 2

(a) T e s

(b) 9RA THR

(c) ifq =T

(d) Siceat fam emm

frfafed & @ SiF-w o q9qE W waitue
AT fehReh 81 Tehell © 2

(a) OISR BT 1 Sehidl

(b) o512 W2 & foxiied & fow SHar 9@ SUR o
(c) oS = & faxied & fow el 9 SuR o
(d) o9 ¥R & oo & faw 48 g1 1 go

58.

59.
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60. With reference to the Indian economy, consider the
following statements:

1. If the inflation is too high, Reserve Bank of India
(RBI) is likely to buy government securities.x

2. If the rupee is rapidly depreciating. RBI is likely to
sell dollars in the market/

3. Ifinterest rates in the USA or European Uni:)yere
to fall, that is likely to induce RBI to buy dollars.

Which of the statements given above are correct?

(a) \,Qb‘r 2 and 3 only

(©) (d 1,2and3

\/({ Uiugwm 5

1 and 2 only
1 and 3 only

O o0 o0
XA X X4

Kule- o}

60. A ALEeen & = #, fAfafead &wed |
fommr wife:
. A gEewifa oty 8, d 9RdiE o S
(RBI) eifea &9 ¥ SRR wiasgfea @i dear 2|
2. A TUT HT A ¥ Geug ® @I R, @ @t IR
o el &1 weIferd ®9 9§ fasha & ekl 2l
3. Afg USA o1 g &9 H =t ¢ et &ielt, ot
Y TrIfad ®9 9 RBI &1 Sioll & @ds U@ &
Tt 2
STYH FoA § HA-9 FE© ?
(a) el 1 3R 2 (b) Hae 2 AR 3
(c) sheel 1 3R 3 @1, 2 3R 3

Prfbi WO
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